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N.B.: (1) Question No.l is compulsory. | | |
(2) Answer any fgut questions from Q.No. 2 to Q. No;f

(3) Figures to the right indicate full marks NG
(4) Assume suitable data if required. S A AT

1. (@ What is memory segmentation? State advantages of memory segmentatlon 5
(b) What is GDT? Explain structure of GDT. D E R S 5
(c) Explain integer pipeline of Pentium processor" : ok R AR -,
(d) Briefly explain string 1nstruct10ns of 8086 5

I 2. (a) Design 8086 based system for followmg requlrements FEy 10
‘ (i) Clock frequency 5 MHZ : :

(i) 512KB RAMusmg 32KB x 8

(i) 256 KB ROM usmg 32 KB p & 8 CEAE
(b) Draw and explam block dlagram of 8253 % > 10

3. (a) Explain DMA data. transfer modes in bnef ._ : 10
(b) Explain, with neat dlagra;m address translatlon mechanism implemented 10
on 803 86DX : et

4 (a) Explam w1th neat dlagram cache memory organization is supported by 10
Pentium processor.

b Draw and explam block dIagram of Pentlum Processor. 10
5. (@ Draw and explaln block dlagrarn of SuperSparc processor. 10

(b) Explam mterrupt structure of 8086 10

6 erte shOrt note on: %
(a) Mlxed 1anguage programming
(b) Virtual 86 mode of 80386DX
(c) Branch predlctlon logic
(d) Control reg13ters of 80386DX
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N.B.: (1) Question Neo.1 is compulsory. P o S T
(2) Attempt any Three questions out of remammg questmns, ;
(3) Make suitable assumptions whenever nec_essqry PRI
I. (a) Enumerate the main responsibilities of the?tata lmk kiyer 9 s R TG
(b) What are the different guided and m@ulded transmission med1a'7
(c) Explain with examples the classification of IPV4 addresses. -

(d) Compare and contrast a circuit smtehlng and a packet switchmg netwerk .- '

2. (a) Consider a message represented by the polynﬁrmal M(x) x’ 4»' .x” +x. 10
Consider a generating polynomlal Gx) = —*x’ + 2+ 1{1101). Generate a3
bit CRC and show what Wlll be the n'angﬁuttcd ﬁ‘ame How is eq'or detected
by CRC? ‘

(b) Whatis ISO-OSIreﬁménce mOdel? Comparq‘etlwﬁh TCP/[Px'eference model. 10
Which layer is used ft}r the following\. R

(i) to route paekets R R < '

(1) to cenvert packets te frame F e |
(iii) to. detect. and corfecterrors. . o o !
(w) tn .run sewlces llke FTP I‘elnet etc

ﬁ,

(a) E)gplam sttance Veﬁtor Routmg Whatare 1ts hnntatlons and how are they 10 é
ovemqne? "REL
§b) What~ are Congestlon PreventlonPohezes? Explain Congestion control in 10
3 Vitluak C‘ll.‘CI}lf athgtagram Subnets :

ﬁ} With ghe j;e]p of su.itablae example explain sliding window protocol with 10

selecﬁVe regect Com are 1ts performance to sliding window with Go-back-n
techmqué 2
F;splam Wlththe help ofsmtable diagram TCP connection management and 10
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5. (a) Explain 1-persistent, p-persistent and 0-pers1steanSMA ngHQSMHgand a7
weak points of each. ';;_!:{hi;-:‘.l it . { A S \ 3
(b) What is subnetting? Given the class C network 192:168.10.0 use the subset 10
mask 255.255.255.192 to create Subnmﬁﬁ%@nswerthe e sSlvioNs Sk
(i) What is the number of subnets E SR S &

(i) How many hosts per subnet’ ‘

(iii) Calculate the IP address ofthe
address of each subnet. = ) P
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